Math 54-1 Your name: ){@

Quiz 3, July 6, 2010 d
Please write your name on each sheet. Show your work clearly and in

order, including intermediate steps in the solutions and the final answer.

1. (3 pt) X Assuming that the transformation T : R® — R? given by the
formula
T(z1,22,23) = (21 — 22,23 — 23)

is linear, find its standard matrix.

Bonus (no points on this quiz, but might come up on the midterm): Is T
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2. (4 pt) Write the standard matrix for the transformation 7' : R? — R? that
first rotates points /2 radians counterclockwise and then dilates points by
2 (that is, multiplies each vector by 2). You can use matrix multiplication
if you want, but you have to explain your steps.
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3. (3 pt) Find AT 4, where
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